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‘Attempt any five questlons Use only simple calculator
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What are the exceptlons to the rule that income of the prev1ous year 1s assessable in

the unmedlately following Assessment year? - : 15

What are the different types of r681dent1al status for an individual assessee‘7 State
the provxslons regardmg deterrmmng of re51dent1al status of an mdwlduai assessee.. 15

Mr. Mohan Kumar joined XYZ Ltd. New Delhi on 1St April 2010 and receives
the following emoluments during the previous year ending 31" March 2015. . 15

Salary ¥3,00,000; Bonus %1 00 000; Entertainment allowance ?20,000
_ The employer has prov1ded him following perquisites: '

i. A rent free house (owned by the company)
ii. ‘Free gas and water for his domestic use (cost — %10 OOO)
iii, A domestic servant (Salary- ¥36 ,000)
iv. His 2 sons are getting free education in a school mamtamed by the
- company (cost of education- ¥1,00,000).
V.. He gets free lunch in the office (cost- 30,000 for 300 days)

vi. - Salary of a cook (336,000) engaged by Mr. Mohan Kumar is paid by
' his employer dunng the year.

= Mr. Mohan Kumar contributes ?30 000 towards recogmzed prov1dent fund, |
his employer contributes ¥24,000. Mr. Mohan Kumar pays ¥15,000 as
insurance premium for a life insurance policy taken on his life.

Determme the total inconie of Mr. Mohan Kumar for the assessment year 2015-
16."
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Discuss the difference betweedtaXébility of Recogniéed Proifident fund and

Unrecognised Provident Fund.

| HoW to com'putc "taxable income from self-occupied house prcpexty?

Explain the procedure of computing “Depreclatlon Allowance under the head ..
profits and gains of busmess or profess1on v -

| Explam the prov151ons regardmg ‘Tax Deductlon at Source under of Income Tax

Act 1961

Explaln the prov1s1ons regardmg deduction under section 80G of Incomc Tax Act
1961.

Discuss the provisions for setoff and'carry,fcr\_zvarci of Capitel losses.
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